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I．Listening Comprehension (20%)

Section A (10%)

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer. Then mark the corresponding letter with a single line through the center. 

Example: You will hear:
M: Is it possible for you to work late, Miss Grey?


W: Work late? I suppose so, if you really think it’s necessary.


Q: Where do you think this conversation most probably took place?

         You will read: 
A) At the office.


B) In the waiting room.


C) At the airport.


D) In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in the evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best answer. You should choose [A] and mark it with a single line through the center.


1. A. $114.   
B. $104.   
C. $40.   
D. $140.


2. A. Wife – Husband.      
B. Shop assistant – Customer.   

C. Waitress – Customer.   
D. Secretary – Boss.


3. A. Lock the door carefully.
B. Open the door.  

C. Fix the lock himself. 

D. Call the repairman.


4. A. 20 copies.   
B. 40 copies.   
C. 50 copies.   
D. 25 copies.


5. A. At 12:00.   
B. At 1:00.   

C. At 11:30.   
D. At 12:30.


6. A. Mr. Thomson is a kind man.

B. She is sympathetic for the man.

C. The man needn’t be worried about.
D. Mr. Thomson is not reliable.


7. A. It was caught in fog.        

B. It wrecked on a rock.

C. It turned over in the storm.   

D. Its anchor couldn’t work because of the fog.


8. A. 8:15.   
B. 8:50.   
C. 9:15.   
D. 9:50.


9. A. One month.   
B. One week.   
C. Two weeks.   
D. Three weeks.


10. A. Down the Fifth Avenue.   B. In Greenwich Village.

C. At the back of the bus.    D. In the front of the vehicle.

Section B (10%)

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter with a single line through the center.

Passage One 

Questions 11 to 13 are based on the passage you have just heard.
11. A. Planes had to carry more passengers.

B. The plane was smaller than other transportation.

C. Luggage was more dangerous.

D. For the safety.

12. A. The luggage has to be weighed and measured.

B. The luggage has to be measured only.

C. The luggage has to be weighed only.

D. The luggage has to be weighed with its passenger.

13. A. A passenger has to be weighed.  B. Luggage has to be weighed.

C. It still uses small aeroplanes.    D. A passenger’s clothes have to be weighed.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.
14. A. The flashing and moving pictures may hurt our eyes.

B. Some television programmes may be terrible and ugly.

C. We may come to take television for granted.

D. People tend to spend too much time on watching television.

15. A. How much time they had spent watching television.

B. How little they had to say to one another.

C. How many things they had to do.

D. How little thinking they had done.

16. A. It is neither good nor bad in itself.  B. It leaves very much to be desired.

C. It has great value to society.       D. It is good for adults, bad for children.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.
17. A. Living on an American farm.   

B. Differences between Asian farmers and American farmers.

C. The rich U.S. farmers.  

D. Farm life in Asia.

18. A. Farm families live on their own farms in the U.S.

B. The farmers go a long way on Saturdays for shopping and on Sundays for church.

C. Farm life is much the same in every part of the world.

D. Farm life in the U.S. has been changed a lot.

19. A. By train.  B. By bus.  C. By car.  D. By bicycle.

20. A. To help each other.             
B. To deal with their problems on their own efforts.

   C. To depend on modern machines.  
D. To follow older ways.

II. Reading Comprehension (30%)

Passage One
Scientists have been puzzled for decades by how turtles manage to navigate across the Atlantic — but now they know. The creatures have their own inbuilt magnetic compass.

A laboratory experiment has revealed that the tiny turtles are born with the ability to “detect” the magnetic fields which help them to navigate the 8,000 miles across the stormy Atlantic Ocean and back home again.

After hatching from eggs laid in nests along beaches in Florida, baby turtles swim out into this current and flow with it for years, nudged along by warm waters rich in food.

They seem to use both the intensity and direction of the magnetic field to navigate. It is also found that turtles born in the Pacific are genetically imprinted with a different magnetic map for currents from those in the Atlantic. They would soon perish in the Atlantic.
21. Scientists didn’t know decades of years ago that ___________.

A. turtles have their own inbuilt magnetic compass

B. what kind of compass is built in turtles’ body

C. what kind of map turtles use in navigating

D. why turtles don’t die in the Atlantic

22. Scientists’ findings are based on ___________.

A. their research on the Atlantic     B. their research on the Pacific

C. their study on the magnetic field   D. their experiments done in labs

23. Turtles ___________.

A. learn to navigate as they grow up

B. know how to detect the magnetic field when they are born

C. can only navigate across the Atlantic

D. start their navigation when they grow up

24. It can be inferred that ___________.

A. turtles navigate with a compass

B. turtles only make use of the direction of the magnetic field

C. turtles will eventually go back to the place where they are born

D. scientists have different opinions as to how turtles make their way home

25. According to the last paragraph, some turtles may die in the Atlantic ___________.

A. if they are not strong enough        B. because they are not old enough

C. because the Atlantic is very stormy   D. as they are born in the Pacific

Passage Two

   Doctors believe that secondhand smoke may cause lung cancer in people who do not smoke. Nonsmokers often breathe in the smoke from other people’s cigarettes. This is secondhand smoke. The U.S. Environmental Protection Agency reports that about fifty-three thousand people die in America each year as a result of exposure to secondhand smoke.

The smoke that comes from a lit cigarette contains many different poisonous chemicals. In the past, scientists did not think that these chemicals harm a nonsmoker’s health. Recently, though, scientists expressed their opinion after they studied a large group of nonsmokers. They discovered that even nonsmokers had unhealthy amounts of these toxic chemicals in their bodies. As a matter of fact, almost all of us breathe tobacco smoke at times, whether we realize it or not. For example, we cannot avoid secondhand smoke in restaurants, hotels, and other public places. Even though many public places have nonsmoking areas, smoke flows in from the areas where smoking is permitted.

It is even harder for children to avoid secondhand smoke. In America, nine million children under the age of five live in homes with at least one smoker. Research shows that these children are sick more often than the children who live in homes where no one smokes. The damaging effects of secondhand smoke on children also continue as they grow up. The children of smokers are more than twice as likely to develop lung cancer when they are adults as the children of nonsmokers. The risk is even higher for the children who live in homes where both parents smoke.
26. It can be inferred that about fifty-three thousand people die in American ___________.

A. because of smoking          B. though they don’t smoke

C. because their parents smoke   D. though their parents don’t smoke

27. Non-smokers get harmed by smokers ___________.

A. because of the poisonous smoke they breathe in

B. if they live together

C. when there is no non-smoking area in the public utilities

D. though the poisonous chemicals contained in the smoke don’t harm them

28. Which of the following statement is NOT true?

A. Non-smokers may be passively involved in secondhand smoking.

B. Some non-smokers may die of lung cancer because of secondhand smoking.

C. We all, more or less, suffer from secondhand smoking.

D. Secondhand smoking is even more harmful than smoking itself.

29. Which of the following is not listed as a negative effect imposed by secondhand smoking on children?

A. They are more likely to be sick.               


B. They are more likely to develop mental disease.

C. They tend to have the bad affect as they grow up. 
D. They are more likely to develop lung cancer.

30. Which group of children suffer from secondhand smoking to the greatest extent?

A. Children under the age of five living in homes with no smokers.

B. Children under the age of five living in homes with one parent smoking.

C. Children under the age of five living in homes with two parents smoking.

D. Children under the age of five living away from their parents.

Passage Three

If a physicist in Houston has his way you’ll be able to say good-bye to pollution-causing energy production from fossil fuels. In the April / May issue of The Industrial Physicist, Dr. David Criswell suggests that the Earth could be getting all of the electricity it needs by using solar cells — on the moon. In the article Criswell proposes a Lunar Solar Power (LSP) System, using arrays of solar cells on the lunar surface to beam energy back to Earth. Criswell estimates that the 10 billion people living on Earth in 2050 will require 20 Terrawatts (TW) of power. The Moon receives 13,000 TW of power from the sun. Criswell suggests that harnessing just 1% of the solar power and directing it toward Earth could replace fossil fuel power plants on Earth. 

The LSP system consists of 20-40 lunar power bases, situated on the eastern and the western edges of the moon, as seen from Earth. Each power base has a series of solar cells to collect energy from the sun, which is sent over buried electric wires. The generators then send the energy to screens that reflect the microwave beams toward Earth, where they are received by arrays of special antennas strategically placed about the globe. 

“LSP is probably the only option for powering a prosperous world within the 21st century,” says Criswell. “However, it does require some improvement on the practical side.”

31. Dr. Criswell works in ___________.

A. America   B. Britain   C. Germany   D. France

32. The LSP system makes use of ____________.

A. the solar energy   B. the lunar energy   C. fossil fuels   D. the nuclear power

33. The lunar power bases ____________.

A. are placed on the earth     

B. are placed on the moon

C. are fixed on the man-made planet   
D. absorb the sun beams

34. __________ is not included in the LSP system.

A. A generator   B. A microwave oven   C. Special antennas   D. Electric wires

35. Dr. Criswell thought that ___________.

A. the LSP system would not succeed in the future

B. it was impractical to carry on the project

C. in the 21st century the LSP system would provide most of the energy we need

D. there was still room for improvement as to the LSP system

Passage Four: Read the following passage and answer each question within 10 words. 

 Let’s say you’re a manager of a division targeted for layoffs. You’ve seen the list of employees to be cut, but you’ve asked to keep the information secret for two weeks. Now imagine that an employee on the list asks you whether he should be putting a down payment on his first home.

If you don’t tell him, then he could be heading into a financial nightmare. If you do tell, you obviously break confidence with your company. And the problem deepens if yours is a public company implementing layoffs because of a pending merger or acquisition that has yet to be announced. If the employee you tell gets wind of this news and acts on the information or passes it on to others who do, you might find yourself in a legal imbroglio (纠纷) because of violating securities regulations.

It’s important to keep in mind that you’re likely to find a perfect fix for everyone. But you can manage the situation so that potential damage is minimized without having to break confidentiality or lie. The solution can be as simple as telling the employee that he should wait a couple of weeks and come back to talk to you then. If his follow-up question is whether a layoff is on the horizon, then it’s fair enough to tell him you can’t say one way or the other. The employee still may buy the house. And he may be furious with you. But doing the ethical thing is often difficult precisely for this reason: rather than being able to please everyone, you’re trying to find a solution that’s fairest to all involved, including yourself.
36. What are you responsible for at work?

37. What kind of dilemma do you find yourself in?

38. What is the worst result if you disclose the secret to the employee?

39. What should you do in the case?

40. Is it possible to please everyone involved in the dilemma?

III. Vocabulary and Structure (15%)
41. Registering first in the blood with __________ effect, the love that endures takes up residence in the soul, which in this way, becomes something far more powerful than bone and flesh.
A. blessing   B. dizzying   C. unwilling   D. puzzling

42. He was warned to ____________ at chasing married woman, or he was likely to be given a punch in jaw.

A. draw fire   B. draw the line   C. draw to an end   D. draw away

43. With a tremulous whisper, he broke off in the middle of a sentence, his hands flapping at his side in a __________ shrug.
A. psychic   B. helpless   C. capable   D. tranquil

44. In the busy holiday season, extra buses are provided to ___________ the existing service.

A. complement   B. compliment   C. supplement   D. implement  

45. Guards __________ every vehicle at the border to prevent drugs being smuggled into the country.

A. whip up   B. go over   C. take out   D. get through 

46. It's easier now than it used to be. I can usually ___________ in a matter of seconds a problem, which it could take me at least two hours to find out and fix in the past.

A. remedy   B. abolish   C. analyze   D. outsmart

47. When I was fat, I would cut pictures out and __________ my own head onto the slim body to inspire myself.
A. arrayed   B. imposed   C. pasted    D. analyzed 

48. As soon as he becomes a firefighter, he is ready to put his life ___________ every working day.

A. on the latch  B. on the line  C. against all the odds  D. at best 

49. Be ___________. Our country is strong. And our cause is even larger than our country. Ours is the cause of human dignity: freedom guided by conscience, and guarded by peace.

A. diligent   B. prepared   C. capable   D. confident 

50. The wealthy parents said they would on no account ___________ in their only child the smallest degree of arrogance.

A. authorize   B. converge   C. recommend   D. adopt

51. You should buy a good __________ and always lock your bike to something secure, like a railing.

A. padlock   B. frisker   C. pistol   D. latch 

52. General Motors, __________ on increasing its market share for the second consecutive year, turned to a fire sale last month that lifted sales 36 percent and helped it accomplish its goal, according to figures released today.

A. confident   B. imposed   C. impacting   
D. intent 

53. The teacher has no way but to _________ the principle by examples.

A. dispose   B. adapt   

C. confirm   

D. enforce 
54. The number of computers in schools has _______ in recent years.


A. heaved 
B. converged 

C. overflowed

D. mushroomed

55. It is __________ to have a peaceful and stable international environment for economic development and cooperation.

A. indispensable   B. traditional   C. inconceivable   D. inevitable  

56. That music always __________ happy memories.

   A. comes down to   B. takes on   C. brings back   D. pops out 

57. The salary in my new job is great, but __________, I’m not impressed.

   A. by the rest   B. for the rest   C. and the rest   D. at rest 

58. __________ forward a little while a person is talking shows you are interested in and   listening to what the person is saying. 

   A. Migrating   B. Scrawling   C. Leaning   D. Exposing

59. It is believed that the dripping of the water can __________ stones.

   A. wear out   B. take up  C. wear away   D. take in  

60. He took a step ___________ to allow the woman with the baby in her arms to pass.

   A. backward   B. ashore   C. reverse   D. wearily 

61. “Smythe's first letter was simply to say that he had __________ walking with Welkin to London; but Welkin was such a good walker that the little man dropped out of it, and took a rest by the roadside.”
   A. started out  B. stood out  C. grown into  D. been opposed to 

62. Even though they’re coming down in the world, they still have a sense of __________.
   A. humanity   B. awareness   C. pragmatism   D. dignity  

63. The talk was about educational opportunities for adults, and the speaker also __________ sources of finance.

   A. called to   B. touched on   C. got to   D. looked over 

64. Last month the Democrats won their third __________ election victory.

   A. immune   B. successive   C. persistent   D. profitable 

65. Coming down in the world, the old man would not ___________ to receiving the young man’s offer though puddings were his favorite.

   A. stoop   B. expose   C. overcome   D. prohibit 

66. She lay down to rest her tired and aching _____.

   A. scars   B. geniuses   C. limbs   D. lambs  

67. Peace-loving people in the world are __________ to the practice of power politics implemented by the U.S. government.

   A. objecting  B. subjected  C. led  D. opposed 

68. The new type engines ___________ high speed, small size and economical operating costs.

   A. feature  B. enhance   C. detect  D. demonstrate 

69. Undoubtedly, the __________ of new playgrounds will benefit the local children.

A. transplantation   B. creation   C. limitation   D. potential 

70. Stem cells are special cells which can, __________, grow into almost any kind of human cell type.
   A. diligently   B. theoretically   C. appreciably   D. obstinately 

IV. Cloze (10%)

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A), B), C) and D). You should choose the one that best fits into the passage. Then mark the corresponding letter with a single line through the center.

   Have your ever heard the old   71  , “Never judge a book by cover”? This is a good rule to
 72   when trying to judge the intelligence of others. Some people have  73  that shine only in certain  74 . A young man with an unusual  75  in creative writing may find himself  76  in the presence of a pretty girl. He  77  awkwardly for words and does not talk smoothly. But don’t make the  78  of thinking him stupid.  79  a pen and paper, he can express himself very well. 

   Other people may  80  overestimating their intelligence by  81  a good appearance. A student who listens attentively and  82  in class is  83  make a favorable impression on his teachers. But when it  84  to exams, he may score near the  85  of the class.

   The  86  idea is that you can’t judge someone by appearance. The only way to determine a person’s intelligence is to get to know him. Then you can observe  87  he reacts to different situations. The  88  situations you observe, the more accurate you judgment is  89  to be. So
  90  . Don’t judge the book by its cover.

71. A. speaking
B. saying
C. teaching
D. talking

72. A. follow
B. obey         
C. watch          
D. observe

73. A. hearts 
B. heads       
C. minds           
D. brains

74. A. conditions
B. situations     
C. circumstances    
D. occasions

75. A. present
B. hand
C. pen 
D. gift

76. A. motionless
B. hopeless
C. speechless
D. helpless

77. A. searches
B. looks        
C. studies          
D. calls

78. A. error
B. fault        
C. mistake  
D. wrong

79. A. From 
B. With  
C. In      
D. By

80. A. fool you away 
B. fool you around
C. fool you out of 
D. fool you into

81. A. putting up with
B. putting on    
C. putting up       
D. putting off

82. A. takes notes
B. write notes   
C. takes notices      
D. takes care

83. A. up to
B. due to       
C. bound to         
D. about to

84. A. turns to
B. comes to     
C. gets to          
D. leads to

85. A. top
B. center        
C. middle          
D. bottom

86. A. mere
B. major        
C. main           
D. topic

87. A. how
B. what         
C. however         
D. whatever

88. A. most
B. more         
C. much           
D. many

89. A. likely   
B. properly      
C. fortunately       
D. necessarily

90. A. count on your time

B. ahead of you time



C. fall behind your time             
D. take you time

V. Guided Writing (15%)

Directions: For this part you are allowed 30 minutes to write a composition. The title of your composition is given. Your composition may consist of two or three paragraphs and include the following main ideas given in Chinese.

Man and Woman Choose Their Own Leisure Activities

1. 大部分成年男女都喜欢在闲暇时间有自己喜欢的活动。

2. 但这些活动在男女之间是有差异的。

3. 形成差异的原因。
